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A particle with charge ¢ moves with a velocity of v = (Zf - 43' + ﬁ) m/s in a region in
which the magnetic field is B = (f + 23 - 312)T . Determine the magnetic force on this
particle. ‘
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A particle with initial velocity v, =4 x 10%1 (m/s) and charge g =4 x107°C enters a
region of uniform electric and maghetic fields. The magnetic field in the region is

B= -0.33 (T) and the gravitational force is negligible. If the particle passes through the
region undeflected, calculate the electric field vector in the region.
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A wire carries a steady current of 1=1.6A. A straight section of the wire, with a length of
1 m. along the x-axis lies within a uniform magnetic field of B =1.6k (T) .If the current
flows in +x direction, calculate the magnetic force vector on the wire.

> A
IR = TdAlx@ = Tae’ xB\

= (\.«4)‘(:.5)4»3%:
_s,

| = *2.‘565»% de= Im
= E = -'Q.‘Ségw ~

¢



PHYS 102: General Physics2 KOC UNIVERSITY Spring Semester 2010
College of Sciences
Section 4 Quiz6 15 April 2010

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Show that the work done by the magnetic force on a charged particle moving in a
magnetic field is zero for any displacement of the particle.
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A magnetic force of F = (4§ - 33)N acts on a particle with charge ¢ moving in a uniform

magnetic field of B = (ZE) T. Determine the velocity vector of this particle.
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